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Consider the graph of a function f.
Identify the correct statements about the graph.

Y X f'(x) < Oforall x
[ f"(x) < 0forx >0
[ f"(x) > 0forx <0

[J f has one inflection point.

[CJ £ has one local minimum and one local maximum.
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The graph of y = f”(x) with five labeled points is shown.

Complete the sentences as to whether each labeled point is an

inflection point of y = f(x).

Point A

Point B

Point C

Point D

Point B

>< an inflection point.

an inflection point.

e

an inflection point.
an inflection point.

an inflection point.
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Consider the function f(x) = 2 _:_ e N { (7() - W /
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Let f(x) = (x> = 9e™ (x> 0).
Find the critical points c that correspond to local minima.
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